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Z0O0LOGY
[GENERAL]
Paper : 1

Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any six questions: I1x6=6
- (PICT =B 2rss Ten wie

a)  Name the free swimming larval stages in life

cycle of Fasciola sp.

Fasciola sp—< GIBCF B\ AL TS
e I 72|

b)  What is choanocyte?
Choanocyte e
¢)  What is manubrium?
Manubrium FICF (=T ?
d) State the function of Osphradium.

Osphradium-93 F/& ST T4 |
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e) What is Nematocyst?
Nematocyst FI(F 01 ?

f)  What do you mean by pygostyle?
Pygostyle J&T0e & (@RI 2

g)  What is checkpoint in cell cycle?
(FRBGEF checkpoint I6T0e & (IR 2

h)  Define Oncogene.
Oncogene-9g <es| (574 |

i)  Name two mosquito-borne diseases.
o SHRIRS @R 1% @12 |

2. Answer any eleven questions: 2x11=22
- @B 2o Tex e ¢

a) Write four characteristic features of

[ -thalassemia.
B -thalassemia-3 B (A% g 9 |

b)  Write the location and function of statocyst.

Statocyst-43 SRZ € e G5 F4 |

c)  Whatis physostomous swim bladder? Give an

example.

Physostomous 5 B A6 2 G5 SHIEIE 7S |
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d)

g)

h)

i)
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What is venous heart? Why is it called so?

Venous heart 2 32/& @ venous heart I&!
=00

What is a second messenger? Give an

example.
Second messenger & ? (G Twizzel e |

Define non-histone protein and state its

function.

Non-histone (2o & € iz & 52
Define desmosome.
Desmosome-9< <esl nl€ |

What is ascariasis? Give the name of the

parasitic larva of the disease.

Ascariasis 96108 & @Ri? @3 @A *RE]AT
S| VI IS (&Y |

Distinguish between nullisomy and

monosomy.

Nullisomy @38 monosomy-3 Nz “i</<sy fefa
4|

What is G -phase? State its significance.

G, Il I T 2 G Sl g 9 |
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k)  Define topoisomerase and state its function.
Topoisomerase & «3% OF Fler 52

1)  What is the cause of sickle cell anaemia?
Sickle cell anaemia (Ao F=el el 1|

m) What is the role of Y-chromosome in
Drosophila?
Drosophila¥fet® Y-chromosome-&3 gfsia! {5 2

n)  What is Barr-body?
Barr-body J#T(® & (I ?

3. Answer any seven questions: 6x7=42

@I ATSTB 2T Ted 11 ¢

a)

b)
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Briefly describe about the spicules found in

sponges with suitable diagram. 4+2=6

Sponge-43 (1023 & spicule T ez
P 90T WG |

Classify class Amphibia upto living orders with
characters and appropriate examples.

24+2+2=6
Amphibia3 AR F7 (39 7€), 2T
A0ofa Ty R TwrERel W |

Describe different types of coral reefs with

proper diagram. 2+2+2=6
ffem «@ea 21 b sion oaere 3¢l 7 |
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d)

g)
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Define echolocation. Describe the process of

echolocation in bats. 1+5=6
Echolocation-9q &1 w8 | JIMITI
echolocation #l&@fes a¢fql 4|

Describe the life cycle of Ascaris
lumbricoides with suitable diagram.

4+2=6
Ascaris lumbricoides~93 G- AfbE Iefel
e |
What are Okazaki fragments? Define leading
and lagging strands. What are the functions of

topoisomerase and ligase in DNA replication?
2+2+2=6

Okazaki-¥ fragment J51Ce & (IR ? Leading
strand €3R lagging strand-¥ @] (74 |

Topoisomerase €<R ligase DNA replication
A@fore 6 e w32

Write short notes on any two: 3x2=6
1)  Sickle cell anaemia

11)  Types of cancer

1i1) Nucleosome

@I ufo Raa Soia Bt @14

1)  Sickle cell anaemia

i) Cancer-49 gF[dCen

111) Nucleosome

[5] [Turn over]

h)

1)

What do you mean by cdk and cyclin? How do
cdk and cyclin regulate cell cycle progression
in eukaryotes? 2+4=6
3ewIReT Gia oF oIt cdk @32 cyclin
(RO fFRrEe B Al a2
Define chromosomal aberration. Briefly
describe euploidy and aneuploidy.
1+214+21=6
Chromosomal aberration-5 7<E8] (1 | ACHCA
euploidy <R aneuploidy T (@Y
Give a brief account of host-parasite
interaction. 6
Host-parasite interaction =T T Gl ALTHCA
@1

4.  Answer any three questions: 10x3=30

@@ foalt AT Tea e ¢

a)

b)
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Describe the mechanism and theories of coral
reef formation. What is an atoll?  8+2=10

#4leT @lfbla todia siafe ¢ weul THm Reifhe
@14 | Atoll 52

State the main characteristic features of
Reptilia. Classify it upto living orders. Mention

the characters and examples of each order.
2+4+4=10
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d)
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Reptilia-3 5a@ste (@ Brafe Trge 3 | 3of oy
O3 ENRETH F9 | drerF A05fF @RT € Trigdd
e |

Describe the parasitic adaptations of Taenia
and Fasciola in details. Mention the characters
of microfilariae and write about its
periodicity. Identify between male and female
Wuchereria bancroffti. 4+4+2=10

Taenia '8 Fasciola-3 *IT&I] SIfSRIe 790&
ARRICE (#12 | Microfilariae (A% ¢ sifzamel
(periodicity) 9 (14| 553 @ & Wuchereria
bancrofti-3 & 217 el 341

What is TATA-box? State the role of
transcription factors in assembly of the
transcription initiation complex with suitable
diagrams. What is Shine-Dalgarno sequence?

Mention the role of SRY in human sex
2+4+2+2=10
TATA-box ¢ Transcription factors-(wd
Transcription-43 &REF FNCS TN G
fo@o1g 39/ F2 | Shine-Dalgarno @ 2 XA
forst fsfianet SRY ferca gt 52

What is PKU? Furnish its genetic

transmission process from one generation to

determination.

the next generation in human. Explain briefly
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the clinical manifestation of the disease 'p*
is the guardian of the cell'— Justify.

2+3+2+3=10
PKU 3 2 SNicas e i@ el aft esfae
26317 2T 11 9 | €3 (@0 8T Sfors el
3| 'pP T (FIRT SfCeT— TRre! afso i
Rl

State the systematic position (upto class/
subclass/order) of any four animals
mentioning at least two characters for each

taxon: 23 x4=10

e @@ vrRfb G Awfosre S=Ele (R
AT / 3o 21F®) fdiae 9 ¢ AroiFa Tree
LR GRSITEI R GRS

1)  Pheretima sp

1)  Pila sp

ii1) Hippocampus sp
iv)  Ichthyophis sp
v)  Mpyxine sp
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